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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 Frank, Mary and Seth shared some sweets in the ratio 4 : 5:7
Seth got 18 more sweets than Frank.

Work out the total number of sweets they shared.

= M =
4 S 7 Ik
T-y4 =3
'? b
=2
b x\b = qk

(Total for Question 1 is 3 marks)

2  PQR is a right-angled triangle.

14
om 5cm

R 0

Work out the size of the angle marked x.
Give your answer correct to | decimal place.

Si‘ﬁr\ A = S

(Total for Question 2 is 2 marks)
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3 Here are the first four terms of an arithmetic sequence.
6 10 14 18
+

(a) Write an expression, in terms of #, for the nth term of this sequence.

The nth term of a different arithmetic sequence is 3n + 5

(b) Is 108 a term of this sequence?
Show how you get your answer.

SO 5 = (|G

L
n = l 03 = g"l’ :3
g

n HAS To B A~ inTE¢eR /. |10Q IS NoT 1IN

THE SEQusAcs )

(Total for Question 3 is 4 marks)
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4 Axel and Lethna are driving along a motorway.

They see a road sign.
The road sign shows the distance to Junction 8
It also shows the average time drivers take to get to Junction 8

To Junction 8
30 miles
26 minutes

The speed limit on the motorway is 70 mph.
Lethna says

“We will have to drive faster than the speed limit to drive 30 miles in 26 minutes.”
Is Lethna right?

You must show how you get your answer.

2> MiLsY AT _7Dﬂ-)OL TAEs 30 Houes

e

10

i §_C3x(>o MTES
10

= 2577 MwTET
LETuma i 18ore S Trevq Lsice LPesaay

THE JudeTio~n IN LSS TR 2L Miwvrey | F
THE DevE A7 ThHE SH=S Lirg e

(Total for Question 4 is 3 marks)
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5 The table shows some information about the foot lengths of 40 adults.

Foot length (fcm)  Number of adults

451 16 < f<18 3 217 = S5
19 18 < f<20 6 bx1l§ = Ly
2 g <D 10 1I0%2| = 2io
23 22 <f<24 12 12%x23 = 23
25 24 f<26 | 9

4w 1S = 1S

O
(a) Write down the modal class interval.

2L

228 €< 24

(1)
(b) Calculate an estimate for the mean foot length.
4L
Lo
(3)

(Total for Question 5 is 4 marks)
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Triangles ABD and BCD are right-angled triangles.

A
£ giv 10 cm
pUd D
xcm 4 cm

Work out the value of x.
Give your answer correct to 2 decimal places.

'
BpY = 10 -5 = l00- 25 = 1S

W= ISy = IS £ =9

............... TS

(Total for Question 6 is 4 marks)
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7 The graph of y = f(x) is drawn on the grid.
y‘l
‘n: Y=
_27_.:! ; 4 ;
(a) Write down the coordinates of the turning point of the graph.
( e

1)

(b) Write down the roots of f(x) =2

=04 LY.

(1)

(c) Write down the value of f{0.5)
(1)

(Total for Question 7 is 3 marks)
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8 Ina box of pens, there are

three times as many red pens as green pens [e = 3
and two times as many green pens as blue pens. G = 26 .. 3G = 65 = R

For the pens in the box, write down

the ratio of the number of red pens to the number of green pens to the number of blue pens.

| F NvmGer oF [Sivis = 9
THEN ppPER oF GIIEEN = 2
MPer oF PeD = Lac

(Total for Question 8 is 2 marks)
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9 ABCD is a rectangle. A Ix + 4 B
EFGH is a trapezium.

4x

All measurements are in centimetres.
The perimeters of these two shapes are the same.

Work out the area of the rectangle.

Pecime=r o= M) = Zx g4 + ?_(3—1,5»44-)
= Ba o+ bx + 4
- U 44

Peimezer oF EFCH = S FSxs Ta-B ~x 3

= 18w b
[P -1 = I 3
. La = ol
. w = Yy =

AEn OF ABcD = Lo (3-1 4—;_,_)

2 G (g )
= 4 (9__:?-';+Lp>

= Zo3

(Total for Question 9 is S marks)
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10 Katy invests £2000 in a savings account for 3 years.
The account pays compound interest at an annual rate of
2.5% for the first year
x% for the second year

x% for the third year
There is a total amount of £2124.46 in the savings account at the end of 3 years.

(a) Work out the rate of interest in the second year.

L2000 x |. 025 — L2053

2050 r™ = Zizg. g L

" 7 N

. = 2ty
205

205¢

C))

Katy goes to work by train.

The cost of her weekly train ticket increases by 12.5% to £225

(b) Work out the cost of her weekly train ticket before this increase.

112-5% 05 DRI GST = 295
OliLisae QST = 225
[ LS
g 2oo

(2

(Total for Question 10 is 6 marks)
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j80 90 ~32 =S&°
STAusE Aies (v A
TRANGLE AM VD T 1R

(Bo~S2
= 122° SNeE
AncLey o~ A | P
Srzeie LnZ e TN Go° Sace A Patos A A TAGEST
B TR S MEETT AT PasHT ANGLES

Sand T are points on the circumference of a circle, centre O.
PT is a tangent to the circle.

SOP is a straight line.

Angle OPT = 32°

Work out the size of the angle marked x.
You must give a reason for each stage of your working.

P "
Teang, e 0ST IS ISesceres /) OST = «

) | = Vi - o
.9 l20 ~ 122 | D24 SINeE PArELST I A
2 TRANGLE ady yp 7 1R0°

(Total for Question 11 is 4 marks)
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12 A and B are two sets of traffic lights on a road.
The probability that a car is stopped by lights A is 0.4
[f a car is stopped by lights A, then the probability that the car is not stopped by
lights B is 0.7
If a car is not stopped by lights A, then the probability that the car is not stopped by
lights B is 0.2
(a) Complete the probability tree diagram for this information.
lights A lights B
stop
stop
0.4 071
not stop
=0.2%
SP 0. 6% 0 R
= 0 - q,.&
not stop
not stop
2)
Mark drove along this road.
He was stopped by just one of the sets of traffic lights.
(b) Is it more likely that he was stopped by lights A or by lights B?
You must show your working.
Mote  Likery Las Smopen AT
(4-82 A5 otoser 7= 22 %)
(3)
L (Total for Question 12 is S marks)
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13 d is inversely proportional to ¢
When ¢ =280, d=125

Find the value of d when ¢ = 350

et L
e jWHen ¢ = 35O
- . : {( = k ({ - F7OOO
C 250
2= k
220

ko= ZSx 280
= 70 20

A= Jovo

<
g= 20

(Total for Question 13 is 3 marks)

14 Prove algebraically that

(2n+ 1> — (2n + 1) is an even number

for all positive integer values of .

(Qn+-f)2: él’fila;- Len 4

4 e +
A2 ) < (Bagr ) 5 i FEAFT— Py
LA+ 2n

2 (24 A )

Mvimde oF 2 .0 eEvend

Vi

'

(Total for Question 14 is 3 marks)
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15 Prove algebraically that the recurring decimal 0.25 has the value %

L= - 1§

Do = Q-g

e = 955 S
. A0 = 153
oo = 238
=Ye

(Total for Question 15 is 2 marks)

1

. . ax+b ;
simplifies to where a, b, ¢ and d are integers.

16 Show that —; B
6x" +7x -5 4x" -1 ex +d

= L//)L'L— I
iy

(29 +)@x - )
(D~ ‘)(31+5)

x|
B4+ 5

1)

IR

20+

(Total for Question 16 is 3 marks)
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17 The diagram shows a sector of a circle of radius 7 cm.

7 cm

Work out the length of arc AB.
Give your answer correct to 3 significant figures.

40 y 2w x T
3LO

(Total for Question 17 is 2 marks)
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s = 3.47 correct to 3 significant figures 3+ 4 &5

JE 2. 475
18 m:T

Q.0845
2-1%1 %

By considering bounds, work out the value of m to a suitable degree of accuracy.
Give a reason for your answer.

M, = Nmax _  J3was 0. 22914 8C24

‘61'4!/\) 3”3'5.

¢t = 8.132 correct to 4 significant figures

m = - S
L 21325

M= 0229 Sids W2 < Loer KoordS
Aqiee = 2 Deti M ﬂLAc:‘ES‘

(Total for Question 18 is 5 marks)
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19 The graph of y = f(x) is shown on both grids below.
VA

g " = = %) > 4 6 g
2
_4

(a) On the grid above, sketch the graph of y = f(—x)
()

VA

=V

(b) On this grid, sketch the graph of y = —f(x) + 3
(1)

(Total for Question 19 is 2 marks)
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20 Solve algebraically the simultaneous equations

Frpr=25
¥ 2x=15

Sy = 22+ S

K+ (2w S‘)q' = 15
Coate X+ 200+ 2S = 2S
7 S+ 20n = O
x Yty g = 0O

# w(wsyg) = O

|

=
i
f

<

i

‘. Y Ix—4¥+5

L gd': (214--5’)7

=3

k=0 y=2 Anb rzzif yz5 |

(Total for Question 2¢ is 5 marks)
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21 In triangle RPQ,

RP=28.7cm
P= 3.2 em
Angle PRQ = 32°

(a) Assuming that angle POR is an acute angle,
calculate the area of triangle RPQ.
Give your answer correct to 3 significant figures.

. A
-‘ sin32 = Stk
,,.l-::’.;?_ztm_‘ e 2.7
| —— AWTE A _
2°) > Sosinpor = 215032
gmem | T
sl -
U PRR = L2 s
(7@ = 180-32 - 62- wuql
| . o = 25.55°
ABA = L x5 2587 5in 955 a5 551
= 226
, 22’ f,.u‘vu....m..cmz

(22.5-22-t) (4)
(b) If you did not know that angle POR is an acute angle, what effect would this have on
your calculation of the area of triangle RPQ?

A
PR ooy G (BO-62.4uT = 1SS RO vy BE S0 e

(1)
i (Total for Question 21 is 5 marks)

4

Pearson Edexcel Level |/Level 2 GCSE (9-1) in Mathematics - Sample Assessment Materials (SAMs) - Issue 2 - June 2015

135
© Pearson Education Limited 2015




-

22 A frustum is made by removing a small cone from a large cone as shown in the diagram.

1
Volume of cone = gfﬂ”zh

Lq—a-—p‘

10 cm

el
i

+———R2ecem——

The frustum is made from glass.
The glass has a density of 2.5 g/cm’

Work out the mass of the frustum.
Give your answer to an appropriate degree of accuracy.

. . 5 - L o
Clemt OF SMALL ConE = IS—10=2 Sacm KHIaH IS 757 % e
g4 o
. DAMET . . ~
HEiLHT OF LARGE (avZ . . ToF Smace (g Loxiz = Yl
VoLuwe oF LAIGE O = J L% xIS = 1807
G - = = 20=
Vipoms oF Sive G = _:'_fhrrxl xS =
”" Vorvme OF ELStum = 807~ %‘EW
MASS OF AuwsSTtum = 92-5 /807:’..2_9_-:9
o T
- (361
- Igélﬁ (1360 —13¢2 )

(Total for Question 22 is S marks)

TOTAL FOR PAPER IS 80 MARKS
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